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Name






Dr. Cary Willard

Quiz 9A (20 points)




November 29, 2004
All work must be shown to receive credit. 
R = 0.0821 L atm/mol K = 62.4 L torr/mol K

kf (benzene) = 5.12oC/m, Tf=5.45oC
kb (benzene) = 2.53oC/m, Tb=80.2oC 
∆Tf=imkf
∆Tb=imkb

π=MRT

Psolution = PsolventXsolvent

1. (8 points) At 25oC, the vapor pressure of water is 23.8 torr.  What is the vapor pressure of a solution prepared by dissolving 65.0 g of C6H12O6 (a nonvolatile solute) in 150 g of water?  
2. (8 points) A solution of 12.00 g of an unknown nondissociating compound dissolved in 200.0 g of benzene freezes at 3.45oC.  Calculate the molecular mass of the unknown.

3. (4 points) Fishermen know that on hot summer days, the largest fish will be found in deep sinks in lake bottoms, where the water is coolest.  Explain why.

 Chemistry 141





Name






Dr. Cary Willard

Quiz 9B (20 points)




November 29, 2004

All work must be shown to receive credit. 

R = 0.0821 L atm/mol K = 62.4 L torr/mol K

kf (benzene) = 5.12oC/m, Tf=5.45oC
kb (benzene) = 2.53oC/m, Tb=80.2oC 
∆Tf=imkf
∆Tb=imkb

π=MRT

Psolution = PsolventXsolvent

1. (8 points) At 25oC, the vapor pressure of water is 23.8 torr.  What is the vapor pressure of a solution prepared by dissolving 85.0 g of C6H12O6 (a nonvolatile solute) in 150 g of water?  

2. (8 points) A solution of 14.00 g of a nonvolatile, nondissociating compound dissolved in 950.0 g of benzene boils at 81.7oC.  Calculate the molecular mass of the unknown.

3. (4 points) Fishermen know that on hot summer days, the largest fish will be found in deep sinks in lake bottoms, where the water is coolest.  Explain why.
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All work must be shown to receive credit. 

R = 0.0821 L atm/mol K = 62.4 L torr/mol K

kf (benzene) = 5.12oC/m, Tf=5.45oC
kb (benzene) = 2.53oC/m, Tb=80.2oC 
∆Tf=imkf
∆Tb=imkb

π=MRT

Psolution = PsolventXsolvent

1. (8 points) What is the molality of NaCl in a solution that is 3.000 M NaCl, with a density of 1.07 g/mL?
2. (8 points) A saturated solution of 0.400 g of a polypeptide in 1.00 L of an aqueous solution has an osmotic pressure of 3.74 torr at 27oC.  What is the approximate molecular mass of the polypeptide?
3. (4 points) A 0.106 m solution of glucose in water has a freezing point of -0.197oC.  What would you expect to be the freezing point of a 0.106 m solution of MgCl2?  Explain how you arrived at your answer.
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November 29, 2004

All work must be shown to receive credit. 

R = 0.0821 L atm/mol K = 62.4 L torr/mol K

kf (benzene) = 5.12oC/m, Tf=5.45oC
kb (benzene) = 2.53oC/m, Tb=80.2oC 
∆Tf=imkf
∆Tb=imkb

π=MRT

Psolution = PsolventXsolvent

1. (8 points) What is the molality of NaCl in a solution that is 4.000 M NaCl, with a density of 1.12 g/mL?
2. (8 points) A saturated solution of 0.600 g of a polypeptide in 1.00 L of an aqueous solution has an osmotic pressure of 5.74 torr at 27oC.  What is the approximate molecular mass of the polypeptide?
3. (4 points) A 0.106 m solution of glucose in water has a freezing point of -0.197oC.  What would you expect to be the freezing point of a 0.106 m solution of MgCl2?  Explain how you arrived at your answer.





















